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2. 6xy-8x-9y+12=(ax+b)(cy+d) AN a+b+c+d A4S
T-otH?

D1 @ 2 @0 @ -1 ® -2



3. X-3x=7YH x(x-1)(x-2)(x-3) +4 ] F2?

@® 28 @ 35 ® 63 @ 67 ® 140
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(x+ 1) (x+2)(x +3)(x+4) -8 = A5EalctH?

x% = 5x + 8)(x% + 5x — 2)

@ ( )

@ (x® 4 5x—8)(x®> —5x+2)
® (x? 4+ 5x+4)(x* + 5x +2)
@ (x* +5x+8)(x* +5x+2)
® («?

x% 4+ 5x+ 8)(x* + 5x — 1)
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- 3x

(x% + 5x+6)(x

24 x+12)(x—4)(x+5)

2 x+12)(x +4)(x-5)
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® (¥ -x-12)(x+4)(x-5)
@ (xX®42x-12)(x +4)(x-5)
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X2 +2x - 12)(x —4)(x +5)



Al A= 0]-85t] (x4 2)(x + 3)(x - 4)(x - 6) = HA7NSHAH?

@O x* - 5x% —20x% + 60x + 144
@ x* +5x% - 20x% — 60x + 144
® x* +5x% +20x% - 60x — 144
@ x* —5x3 +20x2 — 60x + 144

® x* 4+ 5x% — 20x2 + 60x — 144
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12. x+a=2 x-a=74 M, x> -a>+ax’> -a’x E?

® 14 @ 20 ® 24 @ 28 ® 32



13. 9= F % +y-x-x%y o A7t opd A2?

® x%-y @ x-y ® x-1
@ x+1 ® x?-1



14.

ab—2a-2b+4 5 AFEGF AR &2

@D (a+2)(b-2) @ (a-2)(b+2)
@ (a-2)(b-2) ® (a+1)(b-2)



15. o3 A ax—ay-bx+ byE U5-E3HNoHH?

@ (x-y)(a-b) @ (x-y)(a+b)
® (x+y)(a-b) @ (x+y)(a+b)
® —(x-y)(a+b)
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16. x* —4xy+4y? - 22 = Ql-Ealisketl AREE

FI2H? (F, a>0,b>0)

® a* +2ab + b* = (a+ b)?
@ a*-2ab+ b* = (a-b)?
® a®-b2 = (a+b)(a-b)
@ x>+ (a+b)x+ab=(x+a)(x+b)

® acx® + (ad + be)x + bd = (ax + b)(cx + d)
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x? —dx - 9y* +4 & IFEfeh=t AFEE I5Ea
=22t (2, a>0,b>0)

@ acx® + (ad + be)x + bd = (ax + b)(cx + d)
© x>+ (a+b)x+ab=(x+a)(x+b)

© a® - 2ab + b* = (a - b)?

® a®-b2 = (a+b)(a-b)

@ a®+ 2ab+ b? = (a + b)?
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18. a® - 6ab +9b% - 36¢2 9] A57FE &= 9

- AR
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@ a-3b-6c @ a+3b-6e

@ a+6b-3c B at6b+3c

® a—-6b-3c
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@ (2x+3y+5)
© (2x-3y+5)
© (2x-3y-5)
@ (2x+3y+5)(2x-3y-5)

@ (2x+3y-5)(2x—3y+5)
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20. oA 16 - 4x% + 4xy — y? & 1EolotH?

O© 4-x+y)d-2x+y) @ 4+2x-y)d-x-y)
® 4-2x+y)(4+2x+y) @ (442x-y)(4-2x+y)

® (d+2x+y)(4-2x-y)



21. X —-y* +10yz - 25222 JAFEHSHAEY (ax+y + bz)(x -y + c2)
7} =H A} ol a — b + ¢ 9] FH2?

7 @ 11 ® 16 @ 32 ® 64
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23.

x4 Ax® +4E R

F3telt. (2 a > 0)

A5 (ax? + b)? 0] Hcki

L Eiatb=

g, a+b =
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24. x*-10x%+99] 157 obd A2

D x-1 @ x+3 @ x2-1

@ x+9 ® x*-10x2+9



25. 1% —5x2 +49] Q14=7} opd AL9

D x-1 @ x+2 ® x+1 @ x-2 B x—4



26. x?+5xy+2x—5y—3 = AFE3|oH?

@ (x+1)(x+5y+3) @ (x-1)(x—5y+3)
® (x-1)(x+5y-3) @ (x-1)(x+5y+3)

® (x+1)(x=5y-3)
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X2 =y +6x-2y+8 = AFE

a+b+c o g& Fstolet

agia—i—b—i—c:

9

SHH (ax+by+c)(x+y+4) € o,



28. x> -9y? —2x+ 18y — 82 QAULH3|51H?

@ (x-3y+2)(x+3y+4) @ (x—3y+2)(x+3y—4)
® (x+3y+2)(x+3y-4) @ (x-5y+2)(x+3y-4)

® (x=3y+4)(x+3y-2)



29. Thg TRl @2 - b2 — 2 + 20+ 2be + 1 ASE Y

a+b-c-1)a-b-c+1)
a-b+c+1l)a-b-c+1)
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®© ® ©@ ® ©
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(
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a+b-c-1)(a-b+c-1)



30. x*+4(a+ b)x+ 3a® + 6ab + 3b* & Q1EolSHH?

® (x+a+b)(x—a-b) @ (x+a+b)(x+2a+ 2b)
® (x+a+b)(x+2a+ 3b) @ (x+a+b)(x+ 3a+ 2b)

® (x+a+b)(x+3a+3b)



31. x%—4xy+3y?—6x+2y—16 & A5E5) SFAEY (x+ay+b) (x+cy+d)
Vet ol W, a+ b+ c+d 9 Ze?

@® -10 @ -9 ® -8 @ -3 ® 2



32. xX2-2y2 +xy-2x-y+ 1S A5-EdfctH?

D (x+2y-3)(x-y-1) @ (x+2y-1)(x-y-1)
® (x+2y-1)(x-y-2) @ (x-2y+1D)(x+y+1)
® (x+2y+1)(x—y+1)



33. oA x% —4xy + 3y%2 - Tx + 5y — 8 = QALHI|5H?

@ (x+3y-8)(x+y+1) @ (x-3y+8)(x+y+1)
® (x+3y-8)(x—y-1) @ (x-3y+2)(x—y+4)

® (x=3y-8)(x—y+1)
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a®+2ab+b%>-a-bE QA5
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@ (a+b)(a+b-1)
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Ax Edoll Fol am 9l ERE TS
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®S=(r-ar @ S =(a®+rn
® S =a(r+3a)r @ S =ala+2rn

® S=(a+r(a-rr



37.

b2 19 9] ALY ABCD &= A= 9 T

Zo)7} x|, 7F2 9] Zo)7t y ©]1, oABFE

¢t oGFCH 7} L5 Az golrt, of W, ! G
oEGHD 9] H¥ol=? (& x<y<2x) |

B F
D -2x% + 3xy—»? @ —2x% - 3xy —y?
@ 2x% - 3xy —y? @ 2x2 + 3xy —y?

® 2x% +3xy+y?
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39. Wwol st2et N27F 472 x +y, 2x+ 1 Q1 FHHAA Q] Fo7t
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@® ab+b-a-1=(a+1)(1-b)

@ 2-a-2b+ab=(1-b)(2+a)

® -y +2x+2y=(x-y)(x-y+2)
@ P+ +x+1=(2+1)(x+1)

® x(y-1)-20y-1)=(x-2)(y-1)



41. 4952 -9+ ldxy +y2 & AFRAMFATY (ax+y+b)(ax +cy + 3)
7} =it olufl, A<= a, b, ¢ o TS5t a - b + ¢ 9] G2 F5HH?

© 2 @4 ® 6 @ 11 ® 16
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44. TR 4xt 522 4124 Y QA Fog 94 et |
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D 2x+1 @ 2x-1 ® 6x

@ 6x+1 ® 4x-2
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a, b, ¢ FHAFZE 9] A ] ol W, B be+be?~ab+c*—ae = 0
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(x=1)(x+1)(x=2)(x+2) =40 ©] (x+a)(x+b)(x* +c) 2 AFES
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48.

xt=3x2 + 12 UFENGHH (&2 + ax + b)(x* + cx + d) 7F HH}. ©]
9, a+ b+ c+d 2 = F5hoft

a%*:a+b+c+d:
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B Eia+b=



